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QUESTION 1

The following code executes with the error in control configured as shown. 

What value will be displayed in the error out indicator when the VI completes execution? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 
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QUESTION 2

What is an advantage of using a Strictly Typed VI ref num? 

A. The data types of the target VI are known at compile time 

B. The data types passed to the VI can change programmatically 

C. You can flatten the data to a string to improve code performance 

D. Causes dynamically loaded VIs to be loaded at the start of execution 

Correct Answer: A 

 

QUESTION 3

Which of the following is NOT a component of an Error Cluster? 

A. Status. 

B. Code. 

C. Source. 

D. VI name 

Correct Answer: D 

 

QUESTION 4

Can a wire be used to pass data between loops that are intended to run in parallel? 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 5

Which of the following statements is true regarding the execution of the following code? 

A. The loop will iterate 51 times. 

B. The loop will iterate 50 times. 

C. The loop will iterate 49 times. 
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D. A For Loop that has a 50 wired to the count terminal will perform the same operation. 

Correct Answer: A 
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